100m

1 295 1 .47 3 | 6471 4.38 0.0] 2 | 614 113.76 702 | 1963 3
2 1161 1 7.25 3 | 625 ] 3.76 1.8 3 [ 428 114.67 565 | 1618 7
3 252 1 6.34 2 1534 ]| 3.81 1.1 3 | 443 |14.52 588 | 1565 | 8
4 293 1 7.43 2 | 643 | 4.29 0.8 1 | 587 |14.44 600 ) 1830 | 4
S 1025 1 7.00 1 1600 3.75 0.6] 1 | 425 )13.91 679 1 1704 | 6
6 1141 1 4.97 3 [ 397 ] 3.86 0.8 2 | 458 |15.77 427 | 1282 | 11
7 1160 1 5.65 2 |1 465 | 4.31 0.4 2 | 593 ]13.88 684 | 1742 3)
8 303 1 6.01 1 1501 3.76 1.3] 3 [ 428 115.56 448 | 1377 | 10
9 1151 1 DNS

10 317 1 7.43 1 ] 643 ] 4.61 1.0] 2 [ 678 ]13.65 718 | 2039 2
11 266 1 5.56 2 | 456 | 3.32 0.5] 1 | 296 J18.25 179 | 931 12
12 1028 1 7.39 2 |1 639 ] 3.02 0.5 3 | 206 |14.33 616 | 1461 9
13 2 1 6.50 1 ] 550 5.30 2.0 1 | 850 J13.40 756 | 2156
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1 266 1 5md4 5m56 5m46 5m56 2
2 1028 1 7mll 7m39 6m78 7m39 2
3 303 1 6m01 5m98 4m62 6m01 1
4 1141 1 4m55 4m80 4m97 4m97 3
5 1161 1 6m67 6m99 m25 m25 3
6 252 1 6m29 6m34 5m92 6m34 2
7 1025 1 7m00 6m36 X 7m00 1
38 293 1 7m03 m43 6m20 /m43 2
9 1160 1 X 5m65 X 5m65 2
10 295 1 X X ma7 m47 3
11 317 1 m43 /m16 7m32 7m43 1
12 2 1 6m50 6m23 6m15 6mMm>b50 1




1 1151 1 DNS

2 266 1 3m32 10.5] 3m02 {0.0] x 3m32 10.5 1
3 1141 1 X 3m86 (0.8 3m66 [0.8] 3m86 (0.8 2
4 303 1 3m73 10.5] 3m/75 {0.2] 3m/6 [1.3] 3m/6 |1.3 3
S 1161 1 3m42 (0.6 3mS8 (0.0 3m/76 [1.8] 3m/6 (1.8 3
6 252 1 3m60 |0.7] 3m58 {0.8] 3m81 [1.1] 3m81 |1.1 3
7 293 1 4m29 (0.8 X 3m71 [0.5] 4m29 (0.8 1
8 1028 1 X 2m92 {0.0] 3m02 [0.5] 3m02 |0.5 3
9 1025 1 3m/75 (0.6 3m70 (0.2 3m34 [0.9] 3m/5 (0.6 1
10 1160 1 3m93 10.2] 4m31 {0.4] 3m57 [0.6] 4m31 (0.4 2
11 295 1 X 4m38 [0.0f 3m98 [0.6] 4m38 [0.0 2
12 317 1 4md44 13.7] 4m6l1 11.0] 4m08 |0.4] 4m61 1.0 2
13 2 1 o5m30 [2.0[ 5m02 [0.8[ 4m79 [0.6] 5m30 (2.0 1




